SAS

Single Animal Scale

AN
31

N

N\

A\

AJ0LS3AIT

A}

)
m
h)
>
()
m
=
m
<
-
)
>
)
-
(7]

Iltem 31 Breakout

www.ricelake.com | Phone: 800-472-6703

. 1
8 O ‘ RICE LAKIE /50 5007:2015 Accredited Company ©2024 Rice Lake Weighing Systems 1/24 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.



Single Animal Scale

SAS

Part Number/Price

Item # Part # Description Part # Description

1 173776 Cage 1/2 panel SAS M 24 126789 Plug, plastic for round

2 118020 Screw, cap 5/16-18NC x 5/8in 25 170217 Frame base weldment SAS M
15154 Washer, lock 5/16 reg 26 14641 Nut, 1/4-20 hex
44237 Washer, plain STD 5/16 SST 27 173140 Eye nut, 3/8-16in

3 127013 Screw, cap hex 3/8-16 x 3in 14748 Bolt, 3/8-16 x 3in

4 21938 Washer, plain 3/8 Type A 28 81427 Washer, flat 1/4 steel

5 14656 Nut, 3/8-16 NC hex steel zinc plated 29 132917 Carriage bolt, 1/4-20 x 1in

6 172087 Load cell pin SASM 30 171619 Flooring, X-Lug rough
126926 Pin, 1/4 x 2-1/4 slotted 31 163212 Shock assembly, MAS

7 171549 Sliding gate, complete 32 126815 Bushing, rubber 7/8 OD

8 170664 Cage and floor weldment 33 15161 Washer, plain STD 3/8 SST

9 171548 Bolt-on swing gate assembly 34 22093 Screw, cap 3/8-16 NC x 2 hex

10 167697 Plank retention weldment SAS M 35 126992 Nut, hex 3/8-16 18-8 SST

11 127200 Cover, cell stand sheeting 36 160883 Shock absorber

12 15147 Washer, lock 1/4 regular 37 88958 J-Box, JB4SS 4-channel

13 127007 Cap screw, 1/4-20 x 1/2in 38 127740 J-Box cover plate

14 127165 Spacer, upper load cell 39 126819 Gasket

15 128184 Pin, notched upper cam 40 131885 Mount plate J-box

16 21443 Load cell, SBM RL20000I-5,000 lb 41 158143 Homerun cable kit

18 131785 Cam lever without lock down - right rear 15730 Dust cap
127676 Cam lever with lock down - left rear 15748 Gasket, connector

19 14765 Bolt, 1/2-13NC x 4 hex 158055 Cable, J-box to MS connector

20 15167 Washer, lock 1/2 regular 42 164909 Plug, hole 10 mm black

21 131787 Cam lever with lock down - left front
127675 Cam lever without lock down - right front

22 127732 Cam handle, mask

23 126788 Plug

www.ricelake.com | Phone: 800-472-6703
An ISO 9001:2015 Accredited Company ©2024 Rice Lake Weighing Systems 1/24 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

LIVESTOCK

RICE LAKE | O

(%2
-
<
o
-
=
L
=
L
)
<<
—l
o
LU
o




